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Sixth Semester 

Zoology 

BIOSTATISTICS, COMPUTER APPLICATIONS AND 
BIOINFORMATICS 

(For those who joined in July 2012-2015 onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10  1 = 10 marks) 

Answer ALL questions. 

 Choose the correct answer. 

1. £μÁø» C¸ \©TÓõP¨ ¤›UQßÓ ÷Á›÷¯m 

GsoØS  

 (A) \μõ\›  (B) •Pk 

 (C) Cøh{ø»  (D) vmh Â»UP® 

 The variate which divides the distribution equally 
is called  

 (a) Median  (b) Mode 

 (c) Mean  (d) Standard deviation 
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2. J¸ CuÌ AÀ»x ¦zuP® GkzxUPõmhõP Aø©Áx   

 (A) •uÀ {ø» Â£μ® 

 (B) Cμshõ® {ø» Â£μ® 

 (C) ö\ÆÁP Áøμ£h® 

 (D) GxÄ® CÀø» 

 A Journal or book is an example for   

 (a) Source of primary data 

 (b) Source of secondary data 

 (c) Histogram 

 (d) None 

3. ]U©õ GßÓ Aøh¯õÍ® SÔ¨£x  

 (A) £õ¨¦÷»åß JmkÓÄU öPõÒøP 

 (B) \õ®¤Ò JmkÓÄU öPõÒøP 

 (C) öμUμåß öPk 

 (D) vmh Â»UP®  

 Sigma is the symbol denotes for  

 (a) Population correlation coefficient  

 (b) Sample correlation coefficient  

 (c) Regression coefficient 

 (d) Standard deviation 
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4. Cμsk ©õv›PÐUPõÚ \μõ\›°ß  ÷ÁÖ£õmk 

AÍøÁ PnUQh EuÄ® ÷\õuøÚ¯õÚx  

 (A) ‘t’ ÷\õuøÚ  (B) ‘F’ ÷\õuøÚ 

 (C) 
2 ÷\õuøÚ  (D) CøÁ¯õÄ® 

 The test used to test the difference between the 
means of two samples is  

 (a) ‘t’ test  (b) ‘F’ test 

 (c) 2  test   (d) All 

5. Â£μ[PøÍ EÒÍÝ¨¦® P¸ÂPÎÀ ªPÄ® 

ö£õxÁõÚ JßÖ  

 (A) ]¤³   (B) ²¤Gì 

 (C) \õÂ¨ £»øP (D) PsPõo¨£õß 

 The most common input device is   

 (a) CPU   (b) UPS  

 (c) Key board (d) Monitor 

6. ÁõºzøuPÎß ÁiÁ® AÀ»x ÷uõØÓzøu |® 

Â¸¨£zvØS HØÓÁõÖ ©õØÔ¯ø©UP EuÄ® 

ö©ßö£õ¸Ò   

 (A) Áõºzøu ^μø©¨£õß 

 (B) Cøn¯ uÍ® 

 (C) ö\¯Ø£õk ö\´•øÓ ö©ßö£õ¸Ò 

 (D) ÂÍUP Eøμ¨£õß 



 

 Code No. : 10221 B Page 4 

 Software that helps to change the shape of 
appearance of word as per one's will is  

 (a) word processor   

 (b) internet 

 (c) operating system software    

 (d) interpreter 

7. E°º uPÁ¼¯¼À £¯ß£kzu¨£k® Á›ø\   

 (A) i.Gß.H. Á›ø\ (B) Bº.Gß.H. Á›ø\ 

 (C) ¦μu Á›ø\ (D) AøÚzx® 

 The sequence used in bioinformatics is   

 (a) DNA  sequence  (b) RNA sequence 

 (c) Protein sequence (d) All  

8. Cμsk Á›ø\PÎß Ga\¨ ö£õ¸mPøÍ •Ê }Ízøu 

ö£õ¸zv £õºUS® •øÓ  

 (A) E»PÍõÂ¯ ^μø©¨¦ 

 (B) EÒÑº ^μø©¨¦ 

 (C) ¦Ó ^μø©¨¦ 

 (D) ø©¯ ^μø©¨¦ 
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 Matching the residues of two sequences across 
their entire length is called 

 (a) Global alignment 

 (b) Local alignment 

 (c) Peripheral alignment    

 (d) Central alignment 

9. uPÁÀ Á[Q Â\õμønUPõÚ Á›ø\ J¨¦ø© 

PshÔ¯ £¯ß£k® P¸Â   

 (A) ¤GìI  (B) ¤Íõìm 

 (C) ¤GìI¤Íõìm (D) GaG®G®Gì 

 A tool that search a data bank for sequence 
similarity to query sequence is called 

 (a) PSI   (b) BLAST 

 (c) PSI BLAST (d) HAMMS 

10. μõì©õÀ GÝ® ‰»UTÖ £h[Põmi ö©ß ö£õ¸Ò 

CuøÚ HØÖU öPõÒÐ®  

 (A) ¤i¤   (B) â¯õì 

 (C) G®iGÀG®KGÀ (D) GxÄªÀø» 

 Rasmol visualization software accepts    

 (a) PDB   (b) Zeus 

 (c) MDLMOL  (d) None of the above  
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PART B — (5  5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

Each answer should not exceed 250 words. 

11. (A) Aø»öÁs ö\ÆÁP¨£h® ©ØÖ® £õº 

Áøμ£h[PÐUPõÚ ÷ÁÖ£õkPøÍ GÊxP.  

  Write the difference between rectangular 
histogram and bar chart. 

Or 

 (B) AmhÁøn°ß £õP[PÒ £ØÔ SÔ¨¦ GÊx. 

  Give notes on the parts of a table. 

12. (A) ø\ ìöPõ¯º ÷\õuøÚ £ØÔ } AÔ¢uøÁ GßÚ?  

  

  What do you know about chi-square test? 

Or 

 (B) ]uÓÀ Áøμ£h® £ØÔ¯ öuõS¨¦ u¸P. 

  Give an account on scatter diagram. 

13. (A) B¨÷μmi[ ]ìhzvß £o £ØÔ GÊxP.  

  Write the functions of operating system. 

Or 

 (B) D ö©°À £ØÔ  ÂÍUQ Auß £¯ßPøÍ GÊxP. 

  Explain Email and its uses. 
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14. (A) E°›¯¼À E°º uPÂ¯¼ß £[QøÚ GÊxP.  

  Write bio informatics in life science. 

Or 

 (B) E°º uPÁ¼¯¼ß TÖPøÍ ÂÁ›.  

  Describe the components of bioinformatics. 

15. (A) ¦μu £S¨£õ´Âß uμÄz uÍzvøÚ £ØÔ SÔ¨¦ 

GÊxP.  

  Write the proteins sequence database. 

Or 

 (B) ÷»õPì Cøn¨¦ £ØÔ } GßÚ AÔÁõ´? 

  What do you know about locus link? 

PART C — (5  8 = 40 marks) 

Answer ALL questions, choosing either (a) or (b). 

Each answer should not exceed 600 words. 

16. (A) ¦ÒÎ Â£μ® GßÓõÀ GßÚ? Auß ÁøPPÒ 

©ØÖ® ÷\P›¨¦ •øÓPøÍ Â›ÁõP GÊxP.  

  What is meant by data? Write elaborately 
the types and methods of data collection.  

Or 



 

 Code No. : 10221 B Page 8 

 (B) R÷Ç SÔ¨¤mkÒÍ |skPÎß Gøh°ß 

«i¯øÚ Psk AÔ¯Ä®. 

Wt in gms  10-20 20-30 30-40 40-50 50-60 

No. of crabs  15 17 16 19 13 

  Find out the median weight of crabs from the 
following data : 

Wt in gms  10-20 20-30 30-40 40-50 50-60 

No. of crabs  15 17 16 19 13 

17. (A) 800 ÷£º öPõsh ©UPÒ öuõøP°À  

500 ÷£¸US öPõμ÷μõÚõ øÁμêØS GvμõP 

©¸¢x AÎUP¨£mhx.  ©¸¢vß ö\¯À vÓøÚ 

PshÔP. (5% AÍÂÀ 
2  AmhÁøn ©v¨¦ 

3.84)  

 £õvUP¨£øh¢uÁº  £õv¨£øh¯õuÁº ö©õzu®

©¸¢uÎUP¨£mhÁº 

GsoUøP  
200 300 500 

©¸¢uÎUP¨£hõuÁº 

GsoUøP 
280 20 300 

ö©õzu® 480 320 800 

  Drug was given to 500 people out of a total of 
800 included in the sample to test the 
efficacy against corona virus. The results are 
given below. Find the effectiveness of the 
drug against the disease (The 2 table value 
at 5% level is 3.84)  
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 No. of persons 
affected 

Not affected Total 

Persons with 
drug given  

200 300 500 

Persons  
without drug 

280 20 300 

Total  480 320 800 

Or 

 (B) J¨¦ÓÂß £À÷ÁÖ ÁøPPøÍ²® Auß 

•UQ¯zxÁzøu²® Â›ÁõP GÊxP. 

  Write in detail the types of correlation and 
their significance. 

18. (A) PoÛ°ß £À÷ÁÖ Põ» ¤Ó¨£õUP[PÒ £ØÔ 

Â›ÁõP ÂÍUSP.  

  Elaborately explain the different generation 
of computer. 

Or 

 (B) G® Gì A¾Á»P ö©ßö£õ¸Ò TÖPøÍ 

Â›ÁõP GÊuÄ®. 

  Write in detail various components of MS 
office software. 
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19. (A) E°›¯¼À E°º uPÁ¼¯¼ß •UQ¯zxÁzøu 

Â›ÁõP GÊuÄ®.  

  Write in detail the significance of 
bioinformatics in life sciences. 

Or 

 (B) Cøn Á›ø\°ß J¨¥k £ØÔ Â›ÁõP 

ÂÍUSP. 

  Explain in detail the pairwise sequence 
comparison. 

20. (A) Ai¨£øh JÊ[PõØÓÀ ÷uhÀ £ØÔ ÂÍUP©õÚ 

öuõS¨¦ u¸P.  

  Give a detailed account on basic local 
alignment search tool. 

Or 

 (B) _¸UP©õP ÂÍUSP : 

  (i) _Âì & ¤μõm 

  (ii) μõì©õÀ. 

  Briefly explain : 

  (i) SWISS-PROT 

  (ii) RASMOL. 

 

————— 


